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Directions- There are in all 27 questions in this question paper. All questions are
compulsory.
(i) wmﬁmmmwm%ﬂ
Marks allotted to the questions are mentioned against them.
(i) WW@WWH&W@%WWl
Read each question carefully and answer to the point.
(iv)WW1@WW%IWHW$WW$W
ﬁwﬁwﬁw%tﬁﬁwaﬁw%ﬁ
forfaT |

Question No.1 is multiple choice question. Four options are given in answer
of each part of this question. Write correct option in your answer book.

(v) Wm1wmwwmmélmm2®9w
W%Eﬁﬁﬁﬁlwmmﬁmwﬂma%w%l
meﬁmwmmfﬁg@f%]wngﬁz?
b Utd i D U B |
Each part of question No. 1 carries one mark. Questions No. 2 to 9 are of
one mark each. Question No. 10 to 16 are of two marks each. Question No.
17 to 21 are of four marks each. Questions No. 22 to 27 are of five marks
each.

(vi)wqw—wﬁwwﬁéﬁwﬁ%awﬁmmfi
mﬁzﬁﬁwwmwélﬁﬁqﬁﬁzﬁaﬂwﬁw
FT & SR Qo |

There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the given
choices in such questions. '

1. (a) ﬁmﬁrﬁgﬂﬁﬁmﬁﬁﬁm%‘— 1
(i) 22/7 (i T (ifi) V4 (iv) S8 | @Iy 7ol

In the following irrational number is-
() 22/7 (i) m (iil) V4 (iv) None of them

(b) @Hﬁ@ﬁwzf—zxﬁs:omﬁﬁaﬁm%— 1
(i) 16 (ii) 24 (i) — 8 fiv) 3
Descriminent of quadratic equation 2x*—4x+3=0 is-
(i) 16 (i) 24 (iii) — 8 (iv) 3
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(c) cot60° BT HIF B—
1 e~ .
(i) 1 | (ii) E (i) V3 (iv) SMaRITNd
Value of cot 60° is-
() 1 (i) % (i) V3 (iv) Not defined
(d) 98UG x*—3 P YD Bl U BNT—
(i) O (i) V3 (iii) 3 (iv) —3
Product of zeroes of the polynomial x*~3 will be-
i) 0 (i) V3 (i) 3 (iv) =3
(e) fovg (2, —4) Y x 3187 & T B
() — 4 (i) O (iii) 2 (iv) —2
Distance of point (2, —4) from x axis is-
(i) -4 (ii) 0 (iii) 2 (iv) -2
(f) FHR 20 4, 10, 16, 22, . BT ATadl g8 sRTT—
(i) 32 (i1} e (iii) 40 (iv) 34
The 7" term of AP: 4, 10, 16,22, ......... will be-
(i) 32 (i) 28 (iii) 40 (iv) 34
g) AT gear & urfear g—
(i) 3 (i) 2 (iii) 1 (iv) O
Probability of a definite event is-
(i) 3 (i) 2 (iii) 1 (iv) 0

(h)y e ™ 5 & DE

q.o—
Q.2-

H.3~
Q.3-

Y4—
Q.4-

H.5—
Q.5-

A9 BNTT—
(i) 3 (i) 4 (iti) 6 (iv) 5
In the figure DE | [ BC and % = 33 if EC = 6¢cm, value of AE will be-
(i) 3 (i) 4 (ili) 6 @iv) 5
A
D E
B C

7 U S8 AT 10 HT SR ART & S0l Bl I Sild HiNy?

Find the volume of a cylinder having height 7cm. and base diameter 10 cm.

g tanA=§, T cos A BT A4 ST BT |
If tan A= z find cos A

AR ST 7, 13, 19 e 205 ¥ UG] Pl HEIT S B |
Find the number of terms of the AP: 7, 13, 19,...... 205.

3825 1 TS YUIWUS] & UMAH & I H FFd P |

Express 3825 as a product of its prime factors.
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U.6— UH QN dgUs S1d DI, [59d el & IRT oIl oAbl AT 0
q 5 B 1

Q.6- Find a quadratic polynomial sum and products of its zeroes are 0 and v/5 respectively.
U7— W, AEd 3R dgcid H ARy forfay | 1
Q.7- Write the relationship between Mean, Median and Mode.

W8— 9sec’A—9tan’A BT HIF FIT BIIT? 1
Q.8- What is the value of 9 sec’A — 9 tan’A?

79— fIgail (a,b) TAT (—a—b) B T B T ST HIFT | 1

Q.9- Find the distance between points (a, b) and (—a, —b)

W.10— HCF (336, 54) = 6 T&AT &1 LCM (336, 54) SITd DITOTT | 2
Q.10- Given that HCF (336, 54) = 6. Find LCM (336, 54).

HA1— 98US 4 v’ + 8 u D YD SN BN AR YAl AR Toidl & §ra &
Tr+ I Il BT Sird bIfoTy | 2

Q.11- Find the zeroes of the polynomial 4 u* + 8 u and verify the relationship between the
zeroes and coefficients.

W.12— U Q1 SN AId DITY [T AT 27 &1 81 [uHH 182 8l | 2
Q.12- Find two numbers whose sum is 27 and product is 182.
G7&7dT OR
k &1 719 ST BRI, s forg fgard FHIdRoT 2% +ke+3= 0 & &I RIeR o
are & |

Find the value of k so that the quadratic equation 2x*+kx+3= 0 have two equal roots.

u13—wﬁﬁﬁ3wsﬁ?5zﬁwﬁﬁé%‘lwsﬁﬁ@mﬁam
fyerell ST 8 | gwa! wrRIffewar a1 & 6 A
(i) o & (i) <ITeT T8 BT

Q.13- A bag contains.3 red balls and 5 black balls. A ball is drawn at random from the bag.
What is the probability that the ball drawn is-

(i) red - (ii) not red.
14— faRad Aol § « 9= y & 99 ST dRI— g
Q.14- Find the values of x & y in following table- :
Uq (Term) JRART AT JRAERAT
(Frequency) (Cumulative Frequency)
2 6 -6
4 X 26
6 24 50
8 28 y
10 15 93
3
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U.15— NIg B 918d a5 9 gad W Wil T3 e @Rl & ohEls §)I6x sl
= 2

Q.15- Prove that the lengths of tangents drawn from an external point to a circle are equal.

u.16— 8 1 = | afe LM|| cB 3R LN||cD a1 Rig & | 2
Q.16- In the given figure if LM | [ CBand LN | ICD prove that-
B

AM _ AN /M{\
AB  AD .
| AWV

D
37e7aT OR
feu 7 fomr # 9fe AODC ~ AOBA, ) c
[BOC=125° 3R LCDO=70°, LDOC 3iR ) 0 .
LDCO T 17 STd &Y | o
In the given figure if AODC ~ AOBA, - 7 >
LBOC=125° and LCDO=70° find LDOC
and LDCO.
UA7—3fC AT AP & U2H 7 UGl &1 ANT 49 B IR YIH 17 UGT BT IANT 289 ®
al 39 UUH n UGl BT ANTHS SITd HIfTT | 4

Q.17- If the sum of first 7 terms of an AP is 49 and that of first 17 terms is 289. Find the
sum of first n terms.

i in A 1 A
U.18—RTg IRI— =B, +,COS = 2 cosec A 4
1+cos A sin A
in A 1 A
Q.18- Prove that- Ll +,COS = 2 cosec A
14+cos A sin A
312141 / OR

MG PRI (sin A + cosec A)” ¥ (cos A + sec A)* =7 + tan’A + cot’A

Prove that- (sin A + cosec A)2 + (cos A + sec A)2 =7 + tan’A + cot’A

U.19— Bls a9 Udh WIE G B PR BT 2, foTdd HUR THh @RIl
9ot JEIRITIT B | ATl BT AR 14 em & AR TH 9T B Bl SHaTs
13 cm & | 39 909 Bl MRS JSIT &Hel S DI | 4
Q.19- A vessel is in the form of a hollow hemisphere mourted by a hollow cylinder. The

diameter of the hemisphere is 14 cm. and the total height of the vessel is 13 ¢cm. Find
the inner surface area of the vessel.

37&/4ql OR

4
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& TS amgfa § Bifhd AN BT &A% TG B, A D= 0 drel QI
FE1g gedl Bl Brourd HAL 7om TAT 14 cm B TAT LAOC =40° B 4

Find the area of the shaded region in figure, if ratio of the two concentric circles with
center O are 7cm. and 14cm. respectively and LAOC=40°

7.20— famgall (-3, 10) 3R (6, -8) B Wil drel ¥@rgvs ®I favg (-1, 6) fow
arqaTd H fmford e 87 4

Q.20- Find the ratio in which the line segment joining the points (-3, 10) and (6, -8) is
divided by (-1, 6).

21— THIHRO Bl 8l PRI~ 0.2x+03y=1.3 4
0.4x+ 0.5y =23
Q.21- Solve the equation- 0.2x + (S5="1"8

0.4x +0.5y=2.3

M.22— 7m S WA & RRER § Deel TR & RRIR BT I3 PIOT 60° B 3AR
TP UTE T A=A DIV 45° B | AR DI Halg Sd BT | 5

Q.22- From the top of a 7m. high building, the angle of elevation of the top of a cable tower
is 60° and angle of depression of its foot is 45°. Determine the height of the tower.

37e7dT OR

TP 8om IS TSH B ST AR AT FAM THE dTd QT @™
o g ¥ 3T < well B 9 9sd @ Ue fag 9 @l B RRR @
I DI HEI 600 TAT 30° T, WHI B HAE IR Gl b fdvg B
X ST DI | " 5

Two poles of equal heights are standing opposite each other on either side of the road,
which is 80m. wide. From a point between them on road, the angle of elevation of the
top of the poles are 60 and 30°, respectively. Find the height of the poles and the
distance of the point from the poles.

D C

W.23— U g & YR T agysl ABCD Wil 7T & |

R
i AbrGo- ADaR0 N
Q.23- A quadrilateral ABCD is drawn to circumscribe a circle. Q
Prove that- AB + CD = AD + BC K /
P

A

5
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W.24— TP FADIO ST @1 A8 3HD MER ¥ 7em BH © | AT B 13em BT
&1, AT 3 &I YoIU STd DI | 5

Q.24- The altitude of a right triangle is 7cm. less than its base, if the hypotenuse is 13cm.
Find the other two sides.

37e/qT OR

fEemd THevor 3%~ 4V3x +4=0 B HAI DI UPA AT BIFY | er%a\?ﬁ
T 3T BT ol S S DI |

Find the nature of the roots of the quadrate equation 3x* — 4v/3x + 4 = 0, If the real
roots exists, find them.

7.25— g RN gc ® f?*ik’ qredd S I@IQ— 5
Q.25- Find the median for the following data.
i
20-30 | 3040 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 |90-100
(Class
Interval)
4 12 14 16 20 16 10 08
(Frequency)

7.26—R1g BINY & Il (B B &I U ol & FHR 3 & YoIisll &l
o= favgall R ufreee @) & fory U v il WY, o A 3
Yoy Y& &1 3rurd ¥ fawIiore &1 Sl & | 5

Q.26- Prove that if a line is drawn parallel to one side of a triangle to interest the other two
sides in distinct point, the other two sides are divided in the same ratio.

W.27— T 7m ATl 20m TET Teh Rl WIaT ST 2 3R @Wied ¥ Mol 83
fedl @1 A BU A BellbR 22m x 14 m dTell Ueb FERT ST 47 8 |
T IGN bl SHdlg 1A DI | 5

Q.27- A 20m. deep well with diameter 7m. is dug and the earth from digging is-evenly
spread out to form a platform 22 m X 14 m. Find the height of the platform.

37e/d7 OR

Euiﬂgzdrcm.WWTAcm.WWBﬁWWﬁ@WWGﬁqﬁ
T 916l U YFarhR @il Bie fordl SIdm & | 99 99 U o & Mdean
T YR T YOI &Fhe I DI |

From a solid cylinder whose height is 2.4 ¢cm. and diarfieter 1.4cm., a conical cavity of
the same height and same diameter is hollowed out. Find the total surface area of the
remaining solid to the nearest cm”.
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